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SECTION -1

. @ -1 . '
CHILD DEVELOPMENT AND PEDAGOGY

aTer-fyarey d fireror faftrat |
There are 30 questions in all in this section.
All' questions are compulsory.

T @vg o FA 30 T ¢
it s e €1

According to NCR 2008, the main goal of Mathematics education is
(A) . Training of teachers |

(B) Classroom learning

Q) Mathematisation of Child's thinking

(D) Course content of Mathematics

TTHLTE. 2005 % aw,nﬁmmﬁﬁ‘i@m%
(4) Tomrt & wivrenr

(B) FeTE S

() w%ﬁﬂ#‘ﬂ%ﬁm@

(D) T i ey

2. Learning through reward and punishment is related to which theory of
learning ? : | :
(A) Social learning (B) Operant conditioning
(C) Classical conditioning (D) Cognitive theory

ISR qe Ug & Hrem @ die e & o fegr @ wafm o
(A)  FmfA HE B) R sy
() PR S (D) R

Which of the following is not a process related to learning during childhood ?

(A) Past experience (B)  Reflection
(C) Imagination | - (D) Argument
R o @ F-e ofma TEaER % AN HE § wati @ L |
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4.  Which tests are designed to-measdre the effe?ts of a specific programme OF
training ?
(A)  Personality | (B) 'Intelligence
(C) Achievement | (D)  Creativity

'.wwwmwa{mﬁmwmm%wmmmﬂaﬁﬁ
qﬁﬁ%ﬂﬁww% >

®) B €
() 3y (D) TEERHA
5. At which stage of devgloﬁment an individual faces the problem of 'vocational
" adjustment ? '
(A) -Old age . . (B)  Adolescence
(C)  Childhood: o (D) Infancy
‘Fﬁmaﬁ%ﬂ mnﬁwaﬁﬁwmmmﬁmwmm% ?
(A)  FEEE | @) (iR
(C) SeamaeT | (D)  Teryy sraEn |
6. Which of the - following is not a biological factor determining individual

- differences ?- .
(A)  Heritability * (B) Innate temperament
(C) Parent-child relatlonshlp (D)  Physical health

T P @ Pt et o Pt o @ - s awE @ E 2

(A)  STETerEhal (B) I @V

() HTEE-AEH TEY (D) ORI @
7. The cause of Down's syndrome is |

(A) Trisomy-20 (B) Trisomy-21

(C) XXY chromosome (D)  Trisomy-22

T3 HAHT H FROT g

N PTRET20 e ey

© XyTRE- (D) | Frorre-22
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8.  The concept of reliability refers to
(A)  Objectivity of instructions (B)  Purpose of measurement

(C) Consistency of scores (D)  Uniformity of scoring

foperetreret & sracom @ s &
&) Teew =t agfrean (B) U F R

(C) Wﬁmﬂm (D)  TIUAT &l GEE

9.  Which of the following is not an example of projective test ?

(A) TAT ~(B)  SCT

(C) Drawa Man. (D) MMPI

Frffifias & @ SF-a wed e @ 3K A § 2

() dud B) TEd

© g O) TG e
'10. Who propounded the theory of multiple intelligence.?

(A) Howard Gardner . (B) Jean Piaget

(C) David Weschler (D) _ Erik Erikson

sg-gfg %1 fagra fee wiafed fwar 2

) TEE MER B) I frEw
(€ Sfre aRR O) o o

11. “Human development goes on for a lifetime, although two people are not equal,
but the order of development remains same in normal children.” Which principle
of development does this statement point to ?

(A) Principle of continuous developmem
(B) Principle of interrelationship
(C) Principle of uniform pattern

(D) Principle of gcneral to specific responses

PEYSPRN | [[1117 — | e pro
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Piaget ?

A gaa faewra @ faeid ®
€ T ey & fagid (D)
development accqrdir.lg to Jean

12. Which is the final stage of cognitive
(B

(C) Post-operational stage (D)

?ﬁﬁﬁaﬁéﬁaﬂﬂﬂwmﬁﬁﬁﬁﬁmﬁ?—ﬁ% ?
&) wiRE g e B o e S
©) I i smen  (p) g deare e

13. The Father of Genetics is
(A)  Gregor Mendel

Formal operationa.l stage

(A) Sensori motor stagé | |
Concrete operational stage

(B) Thomas Hunt Morgan

(C) James Watson (D)  Charles Darwin

AT o TAH &

@A) TR A=A | (B) 9MY &< AN

(C) I AZE D) ey g

Who propounded the Psychoanalytical theory of Personality ?

14.
" (A} Abraham Maslow ()  Sigmund Freud
(C)  Carl Rogers (D). Jean Piaget
afipeet 1 TRvETIe gt e ghaated far & 2
(A) TR Tl ‘B fomve weEe
) FE drd “ D) ¥ st
15 A 10 year old child has mental age of 12, then what would be his 1.Q. ?
() 100 (B) 90 |
(C) 120 (D) 110
sssa+ | INNIEND 444
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(A) 100 B 90
(€ 120 o D) 110
16. The psychological basis of teaching-learning depends on

- (A} Teaching style” (B) Course content
(€} Language (D)  Socio-economic status.
femor- s 1 R o R W PR ARAE 2
(A) 3T Aot B ﬁwaﬁ
(©)  wr C p) e R

17, According to RTE Act,- 2009, the Pupil-Teacher ratio for priméifyl schools

should be
@) 25:1 @ 3501
(C) 40:1 (D) 30:1
RT3, PR, 2000 % AR i ferer & ford formelt- areAmes ST
g e |
(A) 25:1 o B) 35:1

(C) 40:1 (D) 30:1

18. 'Midterm Exam' is an cxamplje' of

(A) Creative Assessment
(B) Norm-referenced Assessment
(C) Summative Assessment
(D) ' Diagnostic Assessment

‘e T T SR €
A) A e (B) TRV et &

(C) AT qedihd (D) RIS e
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20.

21.

22,

which -disease is hereditary ? i
" (B) - Phenylkitonuria

(A) ADHD _

(C) Parkinson's (D) ~ HIV-AIDS

-7 W7 FOTE & 2 o
) Tdwmd (B WHAESEmRET

©  WRRE (D) UELTEE-TeH

Which of the following is a performance test of intelligence ?

f}? | Bhatia Battery (B) Rorschach test

€} wals® (D)  Raven's SPM

ﬁ%ﬁﬁ@ﬁ?—mﬁﬁs’wwm% ?

(4) e 3 (B) Tt werr

€ SHuaRuTs, (D) &7 %7 Tg. 9oy,

Remedial teaching is used for which kind of children ?

(A) FF:lst learners (B)  Slow learners

(C)  Gifted children . (D) Creative learners -

mmmw%mﬁaﬁ%ﬁa&mm% ?

@ FIdwaw g o Tt et

(C)  Sivaet sors '

’ . D) ST ¥ dhet ary

layway meth.od of teaching is based on '

() Theories of methods of teaching.

(B)  Principle of growth and development -

(C)  Sociological Principle of teachin -’

. _ g
(D) Physical education Programme .
fereor 5t deree
ot B ot st 3

(A)  Fereror =} fifirat & fergr

B) g 3N fawrg fagry

©) T 1 Ty fergr

(D) ¥R foret Stz
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23. Who was the Chairman of National Steering Committee on NCF, 2005 ?
(A)  Prof. Kothari (8)  Prof. Mehrotra
iC) Prof. Yashpal " (D) Prof. Ram Murti
. 9. §F., 2005 #r T Reaftn i & AFI TG 2
A) . PR | . HEE
c N (D WA fd
: 24. RTE Act, 2009 is for the chﬂdren of which age group ?
(&) 5-12 @B 12-18
C 7-15 | D) 6-14
AR A1, sfufram, 2000 T 3T T % O & ol € 2
A) 5-12 . (B 12-18
C 7-15 (D) 6-14
25. Which of the following 1s not a physiolog';cal motive ? -
A Achievement _ (B) Hunger
(C) Thirst (D)  Sleep
freferfiae & @ @A-w s s T e 2
(A)  SYeIH B W
Q) 9™ | D) FIg
26. The theory of learning proposed by Albert Bandura is

(A) Classical conditioning theory

(B) Cognitive theory

(C) Insight learning

- (D) Social learning theory

W e S B SR gy

(© aaéf@z'aqﬁrm - O Wl s
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27.

28.

29.

30.
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How r:mam:,.r personality factors are proposed _by Raymond Cattell ?

(A) 05 - (B) 14

© 16 (D) ~ 08

XS 2 5T e s e At el T E 2
(A) 05 L B) " 14

© 16 | D 08

Which of the following is not included in Maslow's hierarchy of needs ?
(A)  Physiological needs '

(B) Individualism and collectivism

(C) Love and belonging

(D)  Self actualization

ﬁwﬁ@mmwﬁmmaﬁmﬁﬁmaﬁ%?

(a). 3w HEYIFAL (B) mﬁmmmﬂw

(C) & Ty gaga (D)  EHTEfg
| Two opposing desires Present in an individyal at the same time is called
{A) Conflict | (B) . ~ Frustration

(C)  Anxiety (D) Pressure
@wﬁsﬁwwwa’rﬁmﬁﬁsﬁmﬁmmw%

A T B/ %

© famm D) T

Which of the following researches is associated with St

(A)  Basic research "phen Cme}’ i

: (B) Behamuural research |
(C}- Scientific research (D) Actmn
research

et ﬁﬁﬁ-m%%.ﬁ@wh
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SECTION - I
LANGUAGE - T
ENGLISH
There are 30 questions in all in this seétion.

All questions are compulsory.

Passage ( Q. Nos. 31-35 ) :
The folk dances of Rajasthan are inviting and engaging. They are bound to induce you
to tap a foot or two along with the dancers. Rajasthani dances are essentially folk
dances. Their origin is in rural customs and traditions. These traditional dances of
Rajasthan are absolutely colourful and liveiy. They have their own significance and
style. They are attractive and skilful. They are enjoyed by every age group. The people
of Rajasthan love their folk dances. : :
31. The words ‘inviting’ and ‘engaging’ are

(A) Nouns ' (B) Adverbs

(C) Adjectives - S (D). Pronouns
32. The sentence, The people of Rajasthan love their folk dances” is in the.
. (B) Present perfect tense
(D) Past perfect tense

(A) Simple present tense
(C) Simple past tense .
33. The word Rajasthan’is a/an
(A) Common noﬁn ' (B) Proper noun
(C) Collective noun | (D) Abstract noun _
34, Which one of the following sequences has the three degrees of thie adjectives in
their correct form ? '
(A) Lively, more lively, most liveliest
(B) Lively, livelier, liveliest
(C) Lively, more livelier, most lively
(D) Lively, more lively, liveliestly .
35. Which of the following phrases has a determiner in jt ?

(A) Customs and traditior}s (B) Colourful and lively
(C) Attractive and skilful (D) The folk dances
36. Measurement is a process of ..................... evaluation_
(A) Qualitative | B) Quaﬂtitati\;e-
(C) Linear D) Unitary
+ss44 | QNNINRIANE (444 |
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37.

38.

39.

41.

42.

43.

44.

assas |WNITINN 444
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Choose the correct sequence of steps in managing clgssmpm teaching :
(A) Controlling, planning, organising, leading |
(B) Leading, organising, controlling, minding

(C) Organising, controlling, leaving alone, commanding

(D) Planning, organising, leading, controlling

The Language Laboratory is used for teaching

(A) Speaking skills (B) Listening skills

(C) Both (A) and.(B) (D) None of these

Which of the following is not true of CCE ?

(A) It focuses on co-scholastic areas also

(B) It promotes holistic development

(C) Itis time consuming and punishing ‘

(D) It reduces stress and anxiety of the students

Evaluation of language proficiency is done through tests designed to eva.luate
which of the following skills ?

(A) Listening, Speaking, Reading and Writing
(B) Listening, Reading |
(C) Speaking, Wntlng

(D) Writing

Which of the following is not a principle of language teaching ?

(A} - Principle of naturalness (B) Practice and drill -
(C) Learning by doing | (D) Copying and pasting

Multi-line approach consists of

(A) use of models _

(B) reaching the same target from different directions and means

(C) selection and gradation '

(D) all of these _

Which of the followmg is true about the Grammar-cum-Translation method ?
(A) Mother tongue is used while teaching

(B) Form is more important than content

(C) Rote learning is encouraged

(D) All of these

Which method is also known as the natural method of teaching Enghsh as
second language ?

(A) gubstitution method (B) Bilingual method

(©) Grammar-Translation method (D) Direct method

https://www.pygonline.com
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45. ‘Which of the following English teaching approaches is étudent-centercd and
student-oriented ?

(A) Communicative approach (B) Situational approach
(C) Structural approach (D) Allof these
46. The two kinds of reading skills are -
(A) verbal and visual reading (B) slowl and fast reading

(C) silent reading and reading aloud (D) .all of these
47. Which of the following is a criterion for selection of a writing task to be
the students to develop their writing skills ?

given to

(A} Interest of students . (B) Level of the class
(C) Both (A) and (B) (D) None.of these
48. Multimedia resources do not include
(A} Audio resources (B) Video resources
(C) Computers | (D) Pens and pencils
49, Who has given the concept of Transformational Generative Grammar ?
(A) Edward Sapir ' - (B) Roman Jakobson
(C) Noam Chomsky - (D) Ferdinand de Saussure’

50. Which one of the following skills uses praise words and approving statements to
motivate the students ?

(A) Response variation (B) Explaining skill K
{0 Reinforcement , (D) Lecturing
Passage ( For Q. Nos. 51-54 ) : '

We all use roads. We walk on them or drive our vehicles on them. We go acrbsa them
or walk on the paveme?lts along them. In cities there are footpaths or pavements along
the roads. Those who walk on them are called pedestrians. It is safe to use footpaths if
we are walking. ' '

Roads in big cities are very busy. They are crowded with all kinds of vehicles lik
e

buses, trucks, cars, three wheelers, motor cycles, scooters, bicycles etc. Sl i

bullock carts, horse carriages, etc. can also be seen there. Walki - Slow moving

such roads is always very risky. People in a hurry ignore the ryl g ?nd driving on
es of the road and

cause accidents. A lot of people die or get injured in such accid _
way to avoid accidents is to obey the rules of the road ' ents everyday. The best

51. The synonym of ‘pavement’ is

(A) Road '
. {B] Trafﬁc

D) Walk

(C) Footway

sssa4 | [HRHINANNN
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52. The antonym of ‘busy’ is
(A) Occupied
(C) tireq

8 STL-1

(B) idle
(D) freedom

5_3' Find out the Word from the passage that means, “The people who walk on a

Pavement”.
(A)  Bullock carts
(C) Pedestriang

(B) Horse carriages

(D) Vehicles

(B) undrive

54, The verb form of the noun ‘driving’ is
(A) drive
(C)  driver

-(D) none of these

SS.  The Study of Speech sound.s'is called

(A) Morphology

(B) Etymology

(C) Phonology - (D) Chronology
56. The Phonetic symbo] for the underlined sound in the word ‘shy’ is
@A) | B) s
© tf (D) d3
S?. Choose the r;ofrect phonetic transcription of the word ‘boy":
(4)  /b31/ o (B) ' /bd1/
(C) /baly

S8. “The Peon opened the

(A) The gate will be opened by the peon
(B) The gate was openédiby the peon
(C) The gate is opened by the peon .
(D) The gate has been opened by the.peon
59. Which questiori form is correct in its structure ?
(A) Do you go to college yesterday ? |
(B) Does you go to college yesterday ?
(C) Did you go to college yesterday ?
(D) Did you go yesterday college ?

60. _
(A) Vaccum

(C) Vaacum

T

Which of the following words is correctly spelt ?

(B} ‘Vaccuum

{D)' Vacuum

444
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SECTION - III
LANGUAGE - IT
ENGLISH .
There are 30 questions in all in this section.

All questions are compulsory.

61. “TWQ roads diverged in a ylellow wood
And sorry [ could not travel both
And looked down one as far as I could
To where it bent in the undergrowth”

The rhyme scheme of the above lines is -
(A) abaab (B) AAbaa

(C) ababa : ' (D) Abbaa
62. 1............. give him an answer if he had asked me.

(A) can (B) may

(C) could (D) might.

63. Choose the alternative which best expresses the meaning of idiom / phrase .

underlined in the sentence : .
“I met him after a long time, but he gave me the cold shoulder.”

(A) Scolded me (B) Abused me

(C) Insulted me (D) Ignored me

64. Which literary term refers to the problem or struggle within a story ?

(A) Conflict _ (B) Drama
(© Acton (D) Climax

65. A form of drama that is intended to amuse and that ends haﬁﬁlly
(A) Tragedy - (B) Comedy"
(C) . Biography | (D) Irdny -

66. With ......... students come to see the tests not as a PuniShmeht but-
useful feedback. The classmates work together for ‘common mte]lectua] vt as a
(A) Self evaluation ' (B) Group evaluatmn are
(C) Peer evaluation (D) CCE evaluation

67. “What do you think about the two candidates in this clection o e .
example of ' ?" This is an
(A} Open ended question - "~ (B} Close endet;l question

' (C) Both (A) and (B) | (D) None of thege

T T |
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passage ( For Q. Nos. 76-80 ) :

Kalaripayatt i " :
ongmpari dt;:u:a'::dzonal art practised in Kerala. Though claims of it
early as the 13th cent reign travellers mentioned Kalari being practise
Kalari is consid ury, Whlch makes it the oldest martial -
mother of all lme:r:ia;m be the most complete and scientific
<alari into China arts. Bodhidharma, a Buddhist monk from
and Japan What makes Kalari uniqu
more than a martial art. A student of Kalari learns p

self defence and, above all, learns how to avmd c

somebody or defend himself.

onfrontatmn

]

.+s heavenly
ed in Kerala as

be in existence.
is the

oduced

art to
artial art and 1
India, 10
it is much

e is the fact that 1
hilosophy, medicine, attack and

s, where he has to attack

76. A student of Kalari 1€arns ... _ philosophy oo
defence. |
Fill in the blanks with the help of given options : |
(A) neither — nor (B) either — or
(D) as—as

(C) notonly — but also

Karate belongs t0 Japan.

77. Kalaripayatt belongs to India ..o
(A) that (B) 'whereas
() if | (D) when
28. Some people SHLl .veermresmenmee of Kalari’s heavenly origin.
(A) claimed (B) claims |
(C) claim (D) were claiming.
79, Kalari ..o the oldest martial art to be in existence. |
(A) 18 ' (B]. was
(C) were (D) are
80. The most suitable title for the passage 1s |
(A) Drawing and Painting ~ (B) Mother of all Martial Arts
(C) Table Tennis | (D) Lawn Tennis
g1. ‘Petrarchan’ is one of the categories of |
(A) Ode | (B) Elegy
(C) “Sonnet (D) Drama

wsses [NEINIIN [
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83

84,

85.

86.

87.

88.

89.

90.
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The number of pure vowels is -

(A) 9

(€ 11
p! tilk! e:l S] -[’ h) tj/ are Ca.].led

(A) Voiced consonants

(C) Pure vowels _

(B)
(D)

(B)
(D)

10
12

Voiceless consonants

Impure vowels

8T1-1

Choose the correct phonetic symbol for the underlined sound of the word : |

Water
(A)  /wot] /
(C) /wo:ta(n)y

(A) Reach
(C) Rich

(B) /[west/

(D) /wDlry:/
(B) Reap

(D) Read

“When to the sessions of sweet silent thought.”

Which literary device is used in the above line ?

(A) Alliteration
(C) Simile

(A) Irony

(C}) Paradox

“She was a phantom of delight.”
Which literary term is used here ?
(A) Elegy

(C) Metaphor

(B)

Personification

(D) Metaphor
What device is present in the line “If ought of oaten stop or Pastoral song” ?
(B) Assonance
(D) Alliteration

(B) Simile
(D) Sonnet

“As green as emerald” is an example of

(A) Allegory

(C) Satire

“Peace hath her victoﬁes

No less renoWned than war.”

What is personified in these lines ?
(A} Victories

(C) -Peace

444

(B) Hyperbole
(D) Simile

{(B) Renowned
(D) Less |
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91.

92.

' How many bricks of measure 25 cm x 16 ¢

(A) 11750

SECTION - IV / @18 - IV

MATHEMATICS / TOTd
There are 30 questions in all in this section.

All questions are compulsory.
7g @vg 1 37 30 7 €
it e e €
m x 10 cm are required to make a

wall of size 20 m long, 5 m high, 50 cm thick, while th
2 m x 1-5 m in the wall ? |

ere are two doors of size

(A) 11750 (B) 11000

(©) 117500 (D) 97500
2Oﬁa‘ﬁ,'5ﬁaw3ﬂ150ﬁﬁﬁﬁﬁﬂﬁmﬁﬁﬂﬁﬁ2ﬁﬁxI-SIﬂZT
mﬂéi%,amﬁﬁ%ﬁxm@ﬁxwﬁtﬁwaﬂmﬁﬁﬁaﬁammﬁ?
. | B 11000

iD]I 97500

c) 1 17500 o
and ZQORS = 140°, then ZPQRis equal to

|RS, £0PQ = 100"

In given figure OP|
S

R
»

»
L

m 80 o 5

| (_cl. 70° . | lP.'r.o.
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K
4 m a7 & oP||RS, QOPQ = 100° @41 ZQRS = 140° A £POR XT&T &M
R R S
140°
. p
o —>
100°
Q
@& 80 B) 60°
(C) 70° (D) 50°

93.  For multiplication of two decimal numbers, such as 04 x 02 = 0-08, an
appropriate teaching-learning tool to explain the concept is

(A)  Dienes block (B)  Number chart

(C)  Counting star (abacus) = (D) Graph paper

z‘rwmaamaﬁamqumﬁ@o-z;xo-2=o-08ﬁﬁwaﬁﬂﬂ3¢ﬁ¢fﬁqﬁﬁ

(A) TEME =E B) &
© frart (sew) ' D) UM% Yug
94. Which of the following represents 9, using tally ma_rk;s ?
A Wow | B) W M |
© W o WM WM
W&gﬁwa@nﬁﬁ@ﬁﬂ%{f@aﬁﬁﬁqmgﬁmﬁmm;
A WoM B) I U
) Wl : D) W W
assa+ NN 44
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95.

96.

97.

98.

If monthly salary of a person is Rs. 24,000, central angle of the sector, showing

the expenditure on educatmn by pie-chart is 60°, then the expenditure on
education is

(A)  Rs. 4,000
(C) Rs. 3,000

(B} Rs. 8,000
(D)  Rs. 6,000

qa;a:ﬁﬁmqﬁa:émm,ooo%%lm%ww%&mﬁ“ﬁ‘a‘é“w
aﬁ#ﬁwgwﬁwmeoot?ﬁmﬁwwwm

(A) 4,000 Bo B) 8,000 %o

(C) 3,000 %o (D) 6,000 %o

The difference between the greatest and the lowest prime numbers of two
digits is '

(A) 88 (B) 86

(C) 89 . (D) 95
ﬁéﬁﬁu@a@amwmﬁwﬁw%

(A) 88 (B) 86

€ 89 ) (D) 95

If the cost of 12 dozen pens is Rs. 720, then the cost of 25 pens is
(A) Rs. 1,500 (B) Rs. 150

(C) Rs. 125 (D) Rs. 1,250

3¢ 12 3o T 1 qed 720 39 €, @ 25 W F e ghy
(A) 1,500 %o (B) 150 %o

(C) 125 %o (D) 1,250 %o

The average weight of 5 students is 40 kg, I op stude

At of wej
them, then the average weight of remaining Students jg '8ht S0 kg has left

(A) 50 kg B 375 g

(D)

©) 30kg 62'5 kg

*Ssa |UIAIIREN

o
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. | : et 9 50 fFuT &, B ST

5 BT #1 it it 40 FeT ¥1 AR I F TH T D |

&, @ I T o B SR A

(A) SOkg (B) ~ 37-5kg

(C) 30kg D) 62:5kg
99. If a product is sold on 10% profit at selling price Rs. 33[,)’ then cost price of the .

product is '

(A)  Rs. 360 (B) Rs. 363

(C) Rs. 297 ' (D)  Rs. 300 |

U 9K 10% T § fasra geg 330 o W A S 8, A I TE B HT oA &
(A) 360 Fo (B) 363 To |

(C) 297 %o (D} 300 %o

100. In a school un(?cr ‘shramdan'’ camp, 12 students clean for 7 hours. If equal part
needs to be cleaned in 6 hours, then how many students will be required ?
A) 14 (B) 12
(C) 16 : Dy 15 :
T fawner 3§ ‘yoee’ ffR % s 12 B, 799 FEE B ¥ 1 3R Iq @
6 U9 T W% FTT &, A fva o1 &) sevasar g ?

(A) 14 B) 12
(C) 16 D) 15
101. The digit form of one crore oné lac one thousand one hundred and one, ig
(A) 11111101 B) 10101101 '
(C) 10010101 (D) 11101001
TF 0 T 7E TF §99K U § T 6 i &9 §
(B) 10101101

(A) 11111101

(C) 10010101 (D) 11101001

ssee |NNNNNND 244
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102. 1f3 {P5 is multiple of 3, where P18 ten's digtts then the grealc>
A 9 B 3
© 6 o 5
afs 31P5, 3“‘1”‘*%,36??«@%% AP A ¢
A 2 B 3
c) © D) °
103. Value of 25+12 «33-25+5 18
a) 1216 B) 79%
o) 416 o 239%
© 4 | o 23
25+12 33-25+5 F1 o ¢
(B) 792
(a) 1216 g
o 2393
©) 416 (D) 3
104. Th Jeast number which 18 divisible bY the numbers ] to 1018
A 1680 @ 840
c 252 o) 5040
ag@q;ﬁgﬁ—aﬁgﬁraﬂtﬁ 1 ¥ ma'aw‘ﬁmﬁﬂfaﬂm% ?
B 840
(A) 1680
- D) 5040
© 25%
of3,4and5inth .
105. Multiplicatio” of place VAU e ’f“mbcf 60321045 is equal to
| B 600000
a) 60 , |
(D) 60000
444 |
| P.T.O.
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L a1 T R ¥
TR
T 60321045 F 3, 4 71 5% W FA H
A 60 | (B) 600000
(C) 60000 (D) 60000000
106. "Mathematics is the mirror of civilization and culture.” This statement is said by
| (A}  Bacon . (B) IBcrthelot
(C)  Hogben (D)  Bertrand Russel
RRLLGE: AR et o oo 21" 78 T Tee T 2
(A) S | B) e
(C) Ehmeg : (D) a;ug o
107. "The act of combining separate parts.” This method is called
(A) Analytic Method ~ (B)  Synthetic Method
(€} Laboratory Method (D)  Project Method
ST ST T B e g forgre e &
(A)  faversor fafy (B)  Teetwu fify
(C)  wanTemen fafy (D) wRErr fafy
108. The maximum success of remedial teaching depends on
(A) time and duration
(B)  the correct identification of causes of problem
(C) knowledge of linguistic rules
(D) remedial teaching materials
IFEARTS RI8IT &} Faifes Therat fnR ae &
(A) T 7 Ay W (B) wH® & $Rﬂii ﬁ R TEae W
€ wEfEREFIAR () :ﬂirnmﬁwmmnﬁrw
asga4 [ HIMNINTINR 444
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- 109. Arrange in correct order the steps of evaluation in mathematics :
1. Identification of situations |
2. Selection of objectives |
3. Selection of evaluation methods
4. I_Interpretations of evidences

S. Constructions of evaluation devices

(A) 2,-1,3,5,4 B) 2,3,1,54
€ 2,3,5,4, (D) 3,2,4,5,1
LR & oo L R g—
Y e
2. JL¥al & =TT
'3.@@%%@%
4. WU H =T |
5. H\Fﬂfﬂ-ﬂﬁfﬁﬁ]ﬁﬂﬁﬂ‘fﬂf
A) 2,1,3,54 B 231,54
€ 2,354,1 - D) 3,2,4,5,1

110. A student was asked to read thé'following numbers
306, 406, 408, 4020
He reads as follows :
Thirty six, forty six, forty eight, forty twenty
The reason for error in reading is that

(A)  the student does not like maths class and finds the class boring

(B) - the student has understood the concept of place yagye and its yge 4
. ¢ also

{C] the student is not fit for study of maths

to understand the ¢op, cept of

, i ble .
(D)  the student 18 not a pla
"_Va.lue and fECls_

comfortable using two-digit numbers only
4 , 243
44 " RINIGAIIN o .
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[ R & forq et T

et 81/ ) & ¢ wematt @ v

306, 406, 408, 4020

Wﬁﬁ‘wmw

(B) W#Wﬁqmaﬁmﬁmm%wmmﬂﬁ
(C) %@mwmﬁﬁ%mmﬂ%ﬁqﬁ%
(D)

(A 2,040F0 - (B) 3,060 %0

(C) 11,040 %o (D) 12,060 To

el - N
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112. A cylinder of height 4 cm is formed after folding ( without overlapping ) a

22 cm * 4 cm rectangular paper, then curved surface area of this cylinder, is

(C) 176 n cm? )

(D) 176 cm

U 22 9t x 4 A & @R e @) g w1 (R aifvsm), w4 9 S

WWWWIWWWWWWM

{A} 88 T Cm 2 _ ’ (B] 88 cm 2 .
€ 176= cm - (D) l?i_i_cm2

113. In the given figure lines AB and CD are intersecting at point' 0. 1f OF and OF are

angle bisectors of #BOD and £COB respectively, and if ZEOD = 25° then ZCOF is

equal to

(4  130° (B) 65
50°

©) 105° (D)

"5 IR B ere

L | _ https:waw.pyqohline_com
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- ﬁﬁﬁﬁﬁﬁﬁaﬁm,mcﬂ,ﬁqowﬁﬁ?ﬂﬁr%mﬁoEﬁqum:

£ZBODTMI 4 Cop % Qrfyuei® & Ud afs LEOD = 25° A £COF €

A 130° | (B) 65°
(C) 105° (D) 50°

114. Area : '
of a Square field is 6400 m?2. The distance travelled by a person, in

S rounds on its perimeter, is

(A) 320m (B) 160 m
(C) 16 km (D) 32 km
qmmﬁ?mﬁmméﬂwﬁmooaﬁn’r%ywaﬁﬁmwﬁmﬁq&fﬁ%w
S FIRT T W 7T gL gt |
(A)  320m B) 160m .

(C) 16km D)  32km

115. Timetakentoﬁllawatertankafsize2m><I-Sﬁxlm by a ta -
. . » a i
20 litre /minute, is ’ P Spéed

(A) 9 minutes _ (B) 1 hour 30 minutesg

(C) 60 minutes : (D) 2 hours 30 minutes

2mx1-5m x 1mm'%'wﬁr%§$ﬁ@={amzoﬁamﬁﬁﬁgm

oo Eg €
@) 9 fiffe | - (B) 19w 30 fie
) 60 fiFe - D) 299 30 e

T I
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116. The non-terminating recurring number 0-123 is equal to the fraction,

(A) i'l'c% |  (B) 5‘%
© s - o AL
mﬁmm@-lzé%mﬁﬁ%

[ﬂ_xl 1—10203—0 ‘ _ (B) %%
(C) 3%% ' D) '%

' 117. The cost of 16 coins of S0 paise is-eqﬁal to
(A) 4 coins of Re. 1 + 3 coins of Rs. 2
(B) 3 coins of Rs. 2 + 8§ coins of 25 paise i
(C) | 3 coinis of Rs. 2 + 6 coins of 25 paise -

(D) 2 coins of Rs. 2 + 3 coins of Re. 1

50 3 & 16 foawhl 1 e S &

(A) 1@#%4%%@@%3\?{@;
B) 26?1‘#%3'{’-@3% 25 9% ¥ 8 o
(©) 25T ¥ 3 Faa + 25 4% ¥ 6 b
(D) 23@%2?{;&%+1“€@&53f€3@5 '

235,
118. The right descending order of the following .numbers 7 EE is
325
W 223 B
253
@ 332 D 7813

45844 : :
o 1D o Pro
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[x] |
P ey %%%ﬂqﬁmﬁﬁﬁ%

.119. Thevalu;:of 13 (2-2--4%j,is
w o ® -= .
9 % D =
- -531-(2-%-4 )Wtﬂ:r%
a 2

10 (B) "1%

(€ “%% {D,;' 17 I

4 in each case, is

(A) 12

(C) 30720

WIS &, 9% S 8
A) 12
(©) 30720

Br Is
(D) 15360
gt ¥ T d@, R 244 Ty 2052 Y fafeg
T w Wﬁ"-% T 4 9uEd
B) 16
(151 15360
444
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| SECTION-V / @R -V
~ ENVIRONMENTAL STUDIES / UAiaRUT HeA4

Therc are 30 questions in all in this section. |

All questions are compulsory.

30 GUg TFe 30 T B
vt e e €
121. Select the festival from the following which is celebrated on the full moon of
Shravan : |
(A)  Diwali (B) Holi
(C) Maha Shivaratri . (D) Raksha Bandhan

Pretfeia § @ 39 her 3 g, it AT ) G ) FE S
@A) feamwt | - ‘{B) et
(C) ’—'IET faTaTiFﬂ | (D) wr Y

122. Sitabari fair ( Kumbha of Sahriya tribe ) is held at

(A) Arnod — Pratapgarh

() Chauth ka Barwada — Sawai Madhopur
(C) Kelwara — Baran

(D) Pushkar — Ajmer

B I
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IRTSTS! 1 e (st wrentn 31 3w) et e &, ]

A e | I li“la"s‘ ." i
MR - e | B) o T - Fd

C

©) oS oy O TR - s
123 State tree of Rajastha, is

(A)  Khejar; B N

€em
(C) Pee
pal (D) Amaltash

W U 57 3

@) o ®

C) s D)  Teemy
124 '

Which of the follo“nng €nzymes is not Secreted by Pancreag 7

A

(A) .Remn (B) Lipase

ﬁ%ﬁﬁﬁﬁ?—mwwmmﬁﬁﬁﬁm% 2

& B e

© R L
s [HINN© GE
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" 125. National Aquatic Animal of India -ia
(A) Gangetic Dolphin (B) whale
(C) Lion _ (D)  Chinkara
R W U e ot &
@) T e @ @
© W - o fow

126. Follbwing traffic sign indicates

(A) Cross road | | (B)  Pedestrian crossing -

(C) Railway crossing (D)  Narrow bridge
v e T AT da € HT e

A (B) ﬂwuﬂ_fm
o e (D) W forar
444 - |
assss [HRUNIEN ko
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127. Which deity (Lok Devta) of Rajasthan is known as 'Deity of camels’ ?
A} Gogan (B) Ramdevji
{C) Pabuji (D)  Bhomia ji
TSR R W 3a F 5 #3992
A T B) (R Wt
© = ©  sifirn s
128, The Wildlife Protection Act’ was enforced in India in the year
A} 1062 B) 1972
‘G 1982 D 1992
BT g S — =Y T w0 gam o
Al 1962 B) 1972
G 1982 @) 1992

i ICFRE (B) WW
1 Toow D) UNEP

csses |1 HIN =
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130. Who coined the term ‘biodiversity’ ?

(A) A.G. Tansley (B) E. Haeckel

(C)  R. H. Whittaker (D) W.G. Rosen

oo (et v et e o 2
(A) t{.iﬁ.é?ﬂé_ | B) 3. &

(C) W, w9 @R D) T . Vo

131. Gregor Johann Mendel researched on

(A) Drosophila (B) Rat
(C) Garden pea | (D)  Yeast
¥R S dveer ¥ vy @ e @
&) SEfFeT W B TR
Q) W AR W D) HRw

132. Who was the first Indian astronaut ?

{A) Kalpana Chawla _ (B)  Sunita Williams

(€} Rakesh Sharma | (D) -. Raja Cherj
Yo RAR Sy anh AT & ) |
(A)  FHETT ATl (B) Wﬁﬁw
O

s RN o
h ﬁttps.:/iwww.hyqoniine.com

(b) T


https://www.pyqonline.com/

STL-1

[¥] | . 60
133. Which of the following forts of Raja#than is a-déo known as ‘Chidiyatunk’ ?
(A) Ranthax;lborc fort (B) Mehrangarh fort
| (D) Sox_lar fort

(C) Kumbhalgarh fort’
st .8 e o 1 g 8

(A)  TOEER T g B ﬁm@'ﬁ
© et o e
~ 134. Water day is .c:elebrated on,
(A)  22nd May (B) 22nd September
(C)  02nd February (D) 22nd March

e fea g fom womnr ST & 2
A 227 . (B) | foera
| 22
(C) 02 F& : (D) |
| . 22
135. Whi i
ich of the following enzymes is presént in saliva ?
. . . | a
(A) Pepsin | (B) T .
| rypsin
(C) Lactase D Ptyal
Ptyalin
ot & '
f@d & @ 1-91 TR, @R Sufer gher & -
@& Wwm B fiftm |

) e '
D e

45844 f[mmﬂ[}?ﬂﬁﬁm https:/lwww. pyg@pline.com
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When was Clean India Mission Launched ?
(A) 2nd October, 2013 (B)  2nd October, 2(514
- (C) 2nd October, 2015 (D)  15th August, 2014

137.

e e o 9 & e mn >

(A) 2 AR, 2013 (B) 2 IR, 2014

(C) 2 AR, 2015 (D) 15 37T, 2014

Match the following and choose the correct

(i Malaria {a). Entamoeba histolytica

(i) Amoebiasis (b) Myco'bacterium tuberculosis

(1) Tuberculosis (c) Plasmodium

(ivy Cholera (d) Vibrio cholerae

@A (- @-@ - (d (v - (b)
® - (- (i) - (@ @) - (d)

© -@ @-® (i) - () () - (d)

@ @- @-@ (i) - (b) (V) - (d)
ﬁm%ﬁaﬁ'aﬁgﬁﬁaﬁﬁﬁmaﬁﬁwﬁ:
G FeRE | '_[a]. qoearian fewiemsiea
(i) SR ) e s
(i) AT | '(C, e
(v) & @) bt et

@A) (i)-( G-@  Gi)-(d (v - (b
B) @)-( @-® ()@ (i) - (g
€ (i)-(@ (i)-(b) (iii) - (c) (iv) - (a)
(D) (@)-(c (i)-(a) (iii) - (b) (iv) - (g

p—
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¥

138. The house made of snow is known as
(B) Rain Basera

(A) Igloo

(C) Green house (D) Basera
Th { T T HEAA ¢

@ ¥9 B) W T
© ehamw | o

139. District of Rajasthan, which shares its boundary with maximum number of

districts in the state is https://www.pygonline.com
(A) Bhilwara (B) Ajmer

(C) Barmer (D)  Nagore

Wqﬁhw,ﬁmﬁaﬁmﬁvﬁ%waﬁﬁmwm%%
() serrg B R

(C) W D) AR

140. The set of clothes which are worn without stitching is
(A)  Sari, Shirt, Cap (B)  Turban, Sari, Kurtg

(C)  T-shirt, Lungi, Cap (D)  Dhoti, Sari, Turban

FUgl &1 T fam foet ogn war & 2

(&) wrE, FHA, I (B) W, AT, et
€ -, o, It (D) i, T, T
45844 |[IFIATINY [444]
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141. Pl’inCiPIB of 'Sp&CifiC_ to General' is used in

(A) Inductive method

(B) © Synthetic method

(C)  Heuristic method

(D)  Analytic method

T2 W 5 e P fa s e & 2

(Al_ A fafy (B)

(€) T@a:-wy fafy ‘(D]

Fyetyor fafy

forgeruy fafyr

142. Ranikhet disease is associated with _

(A) ~ Fishes (B)

(C) Hens (D)

e e A 2

T | - B
(© O
143. The biotic components of environment
(A) Plants | (B) -
(C) Fields - D
qgteRoT % N UF ¢
() o (B)
(© #H. D)

4ssa4 | [NIIAR

-1 444

Honeybees

Pigs

- St
g3
are

- Mountains

. Rivers

qgrg.
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144. Disadvantage of deforestation is

(A) Increase in soil erosion
(B): Decrease in soil erosion
(C)  Increase in number of wildlife

(D) IIICrca_sc in t‘ain

A T AT § gfg
(B) TR aTe § wef)

© ¥ e et @ v § o

Aloe verq

Centella asiaticqg

T Fyy

A2 ey

a4

(D) = g

Opium is obtained from

( A) Papa ver samntfemm (B]
(C) - Cinchona ~ (D)
BT frad W @t ¥ 2

(A) TIER Giferwg (B)
© fosm . (D)

4844 | IWHINREINY

https://www.pyqonline.com

oTL-]


https://www.pyqonline.com/

sTL-1

65 K

146. Who is the first woman of the world who climbed Mount Everest successfully
from the Kangshung side ?

(A) Bachendri Pa]l (B) Santosh Yadav

(C)  Premlata Agrawal (D)  Arunima Sinha

ﬁﬁaﬁWﬁmﬁmW“mewm

A E 2
A) TR U (B) A I
() Swerar S () et e

147. International Bio-diversity Day is celebrated on
(A) 21st May - (B) 23rd May

(C) 22nd May (D)  24th May

st Sa-fatsen e fo e wamn o & 2
A) 217 B) 237

C) 22WE o D) 247

148. Radio broadcasting in India started in the year

(A) 1926 B 1927

(C) _ 1928 (D] 1929

ssesa LTI

" | https://www.pygonline.com
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A jeRk M 1927
I jaoe 18] 1929

&G -

i Which discase i caused by the deficiency of Vitamin-A ?
Al Scurvy (Bl  Nighthlindness
C Rackets o Beri-beri
&eﬁm.aﬁmam.mmm# )
A (B) g
o frerw Dy 404 d

IS0 Whach » the biggest planet of the solar system 7
A Jupster (B}  Saturn
I Uranus [y Neptune
T W SR AT P w )
TR "L i i
Ly o il iy g

«ss+s | 0 RN o84
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